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Part 4 
 

For questions 25 – 30, complete the second sentence so that it has a similar meaning to the first 
sentence, using the word given. Do not change the word given. You must use between two and 

five words, including the word given. Here is an example (0). 

 

 

 
25 They forced me to return the next day. 

 
 WAS 
 

I ………………… back the next day.  
 
 

26 The height of the tree means that we can’t climb it. 

TOO 
 

The tree ……………… to climb. 
 
 

27 Tim probably didn’t buy the car as it was too expensive. 
 

HAVE 

Tim is …………… the car as it was too expensive. 
 
 

28 “We will not have time to see the exhibition,” said Mary. 
 

WOULD 
 

Mary …………… time to see the exhibition. 
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29 Sara moved here when she was a child. 
 

LIVED 

Sara has  …………… childhood. 
 

30 I spent the day doing nothing. 
 

NOT 
 

I did …………… the whole day. 
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Answers 
 
25 was forced | to come/go 
26 is too high | for us  
27 unlikely | to have bought 
28 said we | would not have 
29 lived here | since her 
30 not do | anything for/during/- 
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